THSEE PHIREH

SH6ESAIRAE

= a(va 2ER/ AR PRIREH | FX/METE | BEE
¥t REEERFE 506 506 100%
ERMBUAFH 145 145 100%
P 148 148 100%
FIRDE - EREH TS A M 113 113 100%
EZFEB 131 131 100%
R EEFES 107 107 100%
A RBERFES 273 273 100%
NHRRBEERZH 192 192 100%
fafE R B ERFS 192 192 100%
H 1,807 1,807 100%
(3 n EERFEIUEHER 265 265 100%
ERIZHEFR 0 0 —
EZEHMEF 18 18 100%
H 283 283 100%
Et(R) |EEEAFEHER X1 38 38 100%
EFEHMRER X2 3 3 100%
EZEHMEF 16 16 100%
&t 57 57 100%
INET 2,147 2,147 100%
BE(Z) |EEELEHER 5 — —
FEEHER 0 — —
EFHRFH 1 — —
it 6 — —
= 2,153 — —
X1 LR BEETEIWMEL-ZEM 78705280
X2, BEREETELIMELZRA 48558 T



SHAERE HBEH

SHSESARA

=l ER/ AR PRGN | FX/METE | BEE
= REERZH 505 505 100%
EREUAFES 146 146 100%

EFH 121 121 100%

FIDIE - ERIBUL TR DA MY 124 124 100%

EFE 125 125 100%

A EEFH 103 103 100%

R REERFES 252 252 100%
NHARRBEERZE 194 194 100%

B REERFE 210 210 100%

&t 1,780 1,780 100%

Bt EREIFRER 239 239 100%
ERZHMER 1 1 100%
EFHRH 20 20 100%

Hi 260 260 100%

EL(R) |ERELFEHRE X1 51 51 100%
HFHMERF X2 2 2 100%
EFZ#HREE 17 17 100%

it 70 70 100%

INEH 2,110 2,110 100%

Et(2) |[ERELZHER 3 — —
HEER 0 — —

&t 3 — —

a&t 2,113 — —

X1 BEREBTENMBLIEM 148 9E8C




SHSEE ZEuB5H

SMA4ESHIRE

=l IR/ AR PHREH | FX/METE | BEE
= REERZH 476 476 100%
EREULFS 133 133 100%
EFH 147 147 100%
A EEFH 109 109 100%
R R EERFS 238 238 100%
TR - ERABAL TR D A M 111 111 100%
NHARRBERZE 190 190 100%
BEREERFE 216 216 100%
Hi 1,620 1,620 100%
Bt EEEIFERER 281 281 100%
EREHER 1 1 100%
EZHER 20 20 100%
Hi 302 302 100%
Et(R) |[ERELFHER X 45 45 100%
REMRE X2 3 3 100%
EZHER 14 14 100%
&t 62 62 100%
INET 1,984 1,984 100%
Et(2) |[ERELEAER 9 — —
PR — — —
&t 9 — —
a&t 1,993 — —
X1 BEREBTELRELELEMN 1385%2E8T0
X2 BLBREEBTELIMELEEM 127280



